

Research Article

On the source problem for the diffusion equations with conformable derivative

NGHIEM THI VAN ANH[✉], VU ANH TUAN[✉], LE DINH LONG[✉], AND DOAN VUONG NGUYEN^{*✉}

ABSTRACT. In this article, we are interested in the problem of finding the source function of the diffusion equations $\partial_t^\alpha - \Delta u = f(x)$, where f as the unknown source function and $\alpha \in (0, 1)$. Furthermore, the fractional derivative α of u is defined by the conformable time derivative. This is an ill-posed problem. So, we use the regularized Tikhonov method to construct a regularization solution, and the estimation of convergence is also discussed.

Keywords: Conformable derivative, ill-posed, source function, diffusion equations.

2020 Mathematics Subject Classification: 26A33, 35B65, 35B05, 35R11.

1. INTRODUCTION

Set $\Omega \subset \mathbb{R}^d$ ($d \geq 1$) is bounded domain. We regard the problem

$$(1.1) \quad \partial_t^\alpha u(x, t) - \Delta u(x, t) = f(x), x \in \Omega,$$

where $u(x, t)$ satisfies

$$\begin{cases} u(x, t)|_{x \in \partial\Omega} = 0, & t \in (0, T) \\ u(x, 0) = u_0(x), & x \in \Omega \\ u(x, T) = g(x), & x \in \Omega \end{cases},$$

∂_t^α is denote of conformable time derivative with $\alpha \in (0, 1)$ (see Khalil [6]). With the given function $G : [0, \infty) \rightarrow \mathbb{R}$, the conformable derivative with order $\alpha \in (0, 1)$ is defined by

$$(1.2) \quad \partial_t^\alpha G(t) = \lim_{\rho \rightarrow 0} \frac{G(t + \rho t^{1-\alpha}) - G(t)}{\rho}$$

for all $t > 0$. With $(0, t_0)$, $t_0 > 0$, and exist $\lim_{t \rightarrow t_0^+} \partial_t^\alpha G(t)$ then

$$\partial_t^\alpha G(t_0) = \lim_{t \rightarrow t_0^+} \partial_t^\alpha G(t).$$

Many models of practical problems with comfortable time derivatives are applied in real life .

There are many kinds of fractional derivatives such as Riemann-Liouville, Caputo, conformable, Grunwald-Letnikov, and so on. Problems with non-integer derivatives have received a lot of attention in recent years due to their good application flexibility [1, 2]. Our problem is ill-posed in the sense of Hadamard (the solution is not continuity on the data), so we need to construct a new approximation solution (is called the regularization solution). We emphasised that input data g is not known, and we only have information that g^δ satisfy $\|g - g^\delta\|_{L^2(\Omega)} \leq \delta$

Received: 05.12.2023; Accepted: 01.03.2024; Published Online: 15.04.2024

*Corresponding author: Doan Vuong Nguyen; doanvuongnguyen@iuh.edu.vn

with the error $\delta > 0$, although the input data error is small, the change of the solutions is large. In literature, there are many results of the problem (find source function of diffusion equation). The techniques used to establish the regularization of solution such as the quasi-reversibility method [11], Quasi-boundary value method [8], Landweber iterative regularization method [12, 13], fractional Landweber method [4], Tikhonov regularized method [10], Fourier truncation method [9]. In this work, our goal is to find the unknown source function of problem by using fractional Tikhonov method [7, 3].

2. SOME PRIMARY RESULTS

2.1. Some function spaces. Denote $\langle \cdot, \cdot \rangle$ inner product $L^2(\Omega)$. There are exists an orthonormal basis $\{\varphi_j\}_{j=1}^{\infty}$ ($\varphi_j \in H_0^1(\Omega) \cap C^\infty(\Omega)$) of $L^2(\Omega)$ satisfy

$$\Delta \varphi_j(x) = -\lambda_j \varphi_j(x), \quad x \in \Omega,$$

where $\{\lambda_j\}_{j=1}^{\infty}$ is set of eigenvalues of Δ satisfy

$$0 < \lambda_1 \leq \lambda_2 \leq \dots \leq \lambda_j \leq \dots$$

and $\lim_{j \rightarrow \infty} \lambda_j = \infty$. Furthermore, for each $m \geq 0$, we defined the space

$$H^m(\Omega) = \left\{ u \in L^2(\Omega) : \sum_{j=1}^{\infty} \lambda_j^{2m} |\langle u, \varphi_j \rangle|^2 < +\infty \right\},$$

so $H^m(\Omega)$ is Hilbert space equipped with the norm

$$\|u\|_{H^m(\Omega)} = \left(\sum_{j=1}^{\infty} \lambda_j^{2m} |\langle u, \varphi_j \rangle|^2 \right)^{\frac{1}{2}}.$$

2.2. Source function formular. In this section, we introduce a mild solution of initial problem

$$(2.3) \quad \begin{cases} \partial_t^\alpha u(x, t) - \Delta u(x, t) = f(x), & x \in \Omega \\ u(x, t) = 0, & x \in \partial\Omega, t \in (0, T] \\ u(x, 0) = u_0(x), & x \in \Omega \end{cases}.$$

Use the method of separation of variables to find the solution of (2.3). We assume that u has Fourier expansions

$$(2.4) \quad u(x, t) = \sum_{j=1}^{\infty} u_j(t) \varphi_j(x), \quad u_j(t) = \langle u(\cdot, t), \varphi_j \rangle.$$

From this, (2.4), we have

$$u_j(t) = \sum_{j=1}^{\infty} \left[\exp(-\lambda_j t^\alpha \alpha^{-1}) u_{0,j} + \langle f, \varphi_j \rangle \int_0^t s^{\alpha-1} \exp(-\lambda_j (t^\alpha - s^\alpha) \alpha^{-1}) ds \right] \varphi_j(x).$$

Set $t = T$ and $u_{0,j} = 0$, we take

$$(2.5) \quad g_j(x) = u_j(T) = \sum_{j=1}^{\infty} \left[\langle f, \varphi_j \rangle \int_0^T s^{\alpha-1} \exp(-\lambda_j (T^\alpha - s^\alpha) \alpha^{-1}) ds \right] \varphi_j(x).$$

From (2.5), we have

$$f(x) = \sum_{j=1}^{\infty} \frac{\langle g, \varphi_j \rangle}{T \int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds}.$$

Hence

$$f(x) = \sum_{j=1}^{\infty} \frac{\langle g, \varphi_j \rangle \varphi_j(x)}{T \int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds}.$$

2.3. Ill-posedness. We define the linear operator $T : L^2(\Omega) \rightarrow L^2(\Omega) :$

$$\begin{aligned} Tf(x) &= \sum_{j=1}^{\infty} \left[\int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds \right] \langle f, \varphi_j \rangle \varphi_j(x) \\ (2.6) \quad &= \int_{\Omega} K(x, \xi) f(\xi) d\xi, \end{aligned}$$

here,

$$K(x, \xi) = \sum_{j=1}^{\infty} \left(\int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds \right) \varphi_j(x) \varphi_j(\xi).$$

Since $K(x, \xi) = K(\xi, x)$, the T is adjoint operator. Next, we shall show T is compact. Assuming T_N is defined by

$$(2.7) \quad T_N f(x) = \sum_{j=1}^N \left(\int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds \right) \langle f, \varphi_j \rangle \varphi_j(x).$$

It is easy to show that T_N is bounded, finite dimension operator. Moreover, from (2.6) and (2.7), we have

$$(2.8) \quad \|T_N f - Tf\|_{L^2(\Omega)}^2 = \sum_{j=N+1}^{\infty} \left(\int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds \right)^2 |\langle f, \varphi_j \rangle|^2.$$

With

$$\mathcal{V}_\alpha = \int_0^{T^\alpha} s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds,$$

by setting $s^\alpha = \omega$, and using the method of substitution, we obtain

$$(2.9) \quad \mathcal{V}_\alpha = \frac{1}{\alpha} \int_0^{T^\alpha} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds \leq \frac{1}{\lambda_j} \left(1 - \exp(-\lambda_j T^\alpha \alpha^{-1}) \right) \leq \frac{1}{\lambda_j}.$$

Combining (2.8) and (2.9), we have

$$\|T_N f - Tf\|_{L^2(\Omega)}^2 \leq \sum_{j=N+1}^{\infty} \frac{1}{\lambda_j^2} |\langle f, e_j \rangle|^2.$$

This means that

$$\|T_N f - T f\|_{L^2(\Omega)} \leq \frac{1}{\lambda_N} \|f\|_{L^2(\Omega)}.$$

So, $\|T_N - T\|_{L^2(\Omega)} \rightarrow 0$ when $N \rightarrow \infty$. Hence, T is compact.

Theorem 2.1. (1.1) is ill-posed.

Proof. The singular values of linearity compact self adjoint operator T is

$$\Lambda_j = \int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds.$$

On $L^2(\Omega)$, a set of all eigenvalues φ_j is an orthonormal basis. In view of (2.6), we rewrite (1.1) such as

$$T f(x) = g(x).$$

From the results of Kirsch ([5]), we conclude (1.1) is ill-posed. With $g^k = \frac{\varphi_k}{\sqrt{\lambda_k}}$, we have the source function is

$$\begin{aligned} f^k(x) &= \sum_{j=1}^{\infty} \frac{\langle g^k, \varphi_j \rangle \varphi_j(x)}{T \int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds} \\ &= \frac{\varphi_k(x)}{\sqrt{\lambda_k} \int_0^T s^{\alpha-1} \exp(-\lambda_k(T^\alpha - s^\alpha)\alpha^{-1}) ds}. \end{aligned}$$

If the latter output data is $g = 0$ then $f = 0$, g and g^k , so we have the estimation:

$$\|g^k - g\|_{L^2(\Omega)} = \left\| \frac{\varphi_k}{\sqrt{\lambda_k}} \right\|_{L^2(\Omega)} = \frac{1}{\sqrt{\lambda_k}}$$

this derive

$$(2.10) \quad \lim_{k \rightarrow +\infty} \|g^k - g\|_{L^2(\Omega)} = \lim_{k \rightarrow +\infty} \frac{1}{\sqrt{\lambda_k}} = 0.$$

The error estimator for f^k and f :

$$\begin{aligned} \|f^k - f\|_{L^2(\Omega)} &= \frac{1}{\sqrt{\lambda_k}} \left(\int_0^T s^{\alpha-1} \exp(-\lambda_k(T^\alpha - s^\alpha)\alpha^{-1}) ds \right)^{-1} \\ (2.11) \quad &\geq \frac{1}{\sqrt{\lambda_k}} \left(\int_0^T s^{\alpha-1} \exp(-\lambda_k(T^\alpha - s^\alpha)\alpha^{-1}) ds \right)^{-1} = \sqrt{\lambda_k}. \end{aligned}$$

So, we have $\|f^k - f\|_{L^2(\Omega)} \geq \sqrt{\lambda_k}$. And it follows

$$\lim_{k \rightarrow +\infty} \|f^k - f\|_{L^2(\Omega)} > \lim_{k \rightarrow +\infty} \sqrt{\lambda_k} = +\infty.$$

Combining (2.10), (2.12), we have conclusion. □

2.4. Stability condition required for the source function.

Theorem 2.2. For $s > 0$ and suppose that $f \in H^m(\Omega)$, then

$$\|f\|_{L^2(\Omega)} \leq C(m, \|f\|_{H^m(\Omega)}) \|g\|_{L^2(\Omega)}^{\frac{m}{m+1}},$$

here,

$$(2.12) \quad C(m, \|f\|_{H^m(\Omega)}) = \left(|1 - \exp(-\lambda_1 T^\alpha \alpha^{-1})| \right)^{-\frac{m}{m+1}} \|f\|_{H^m(\Omega)}^{\frac{1}{m+1}}.$$

Proof. By applying Hölder inequality, and in short, we denote,

$$B(\lambda_j, \alpha) = \int_0^T s^{\alpha-1} \exp(-\lambda_j(T^\alpha - s^\alpha)\alpha^{-1}) ds,$$

and we have

$$\begin{aligned} \|f\|_{L^2(\Omega)}^2 &= \sum_{j=1}^{\infty} \left| \frac{\langle g, \varphi_j \rangle}{B(\lambda_j, \alpha)} \right|^2 = \sum_{j=1}^{\infty} \frac{|\langle g, \varphi_j \rangle|^{\frac{2}{m+1}} |\langle g, \varphi_j \rangle|^{\frac{2m}{m+1}}}{|B(\lambda_j, \alpha)|^2} \\ &\leq \left[\sum_{j=1}^{\infty} \frac{|\langle g, \varphi_j \rangle|^2}{|B(\lambda_j, \alpha)|^{2m+2}} \right]^{\frac{1}{m+1}} \left[\sum_{j=1}^{\infty} |\langle g, \varphi_j \rangle|^2 \right]^{\frac{m}{m+1}} \\ &\leq \left[\sum_{j=1}^{\infty} \frac{|\langle f, \varphi_j \rangle|^2}{|B(\lambda_j, \alpha)|^{2m}} \right]^{\frac{1}{m+1}} \|g\|_{L^2(\Omega)}^{\frac{2m}{m+1}}. \end{aligned}$$

On the other hand,

$$\begin{aligned} |B(\lambda_j, \alpha)|^{2m} &\geq^{2m} |B(\lambda_j, \alpha)|^{2m} \\ &\geq^{2m} |\lambda_j|^{-2m} |1 - \exp(-\lambda_j T^\alpha \alpha^{-1})|^{2m}, \end{aligned}$$

this implies that

$$\sum_{j=1}^{\infty} \frac{|\langle f, \varphi_j \rangle|^2}{|B(\lambda_j, \alpha)|^{2m}} \leq \sum_{j=1}^{\infty} \frac{\lambda_j^{2m} |\langle f, \varphi_j \rangle|^2}{2^m |1 - \exp(-\lambda_1 T^\alpha \alpha^{-1})|^{2m}}.$$

Therefore,

$$\begin{aligned} \|f\|_{L^2(\Omega)}^2 &\leq \left(|1 - \exp(-\lambda_1 T^\alpha \alpha^{-1})| \right)^{-\frac{2m}{m+1}} \|f\|_{H^m(\Omega)}^{\frac{2}{m+1}} \|g\|_{L^2(\Omega)}^{\frac{2m}{m+1}} \\ &\leq [C(m, \|f\|_{H^m(\Omega)})]^2 \|g\|_{L^2(\Omega)}^{\frac{2m}{m+1}}. \end{aligned}$$

□

3. FRACTIONAL TIKHONOV METHOD

In order to regularize the solution of the problem with input data $g \in L^2(\Omega)$, we shall minimize the functional

$$\min_{f \in L^2(\Omega)} J_{\epsilon(\delta)}(f) = \|Kf - g\|_{\xi}^2 + \epsilon(\delta) \|f\|_{L^2(\Omega)}^2,$$

where $\epsilon(\delta)$ is regularization parameter, $\|\cdot\|_\xi$ is semi-norm with the weighted and defined by $\|v\|_\xi = \left\| W^{\frac{1}{2}}v \right\|_{L^2(\Omega)}$ for all v and $W = (K^*K)^{\xi-1}$ ($1/2 \leq \xi < 1$). This minimized problem has a unique solution to satisfy

$$\left((K^*K)^{\epsilon(\delta)} + \xi I \right) f = (K^*K)^{\xi-1} K^* g.$$

By using the singular value decomposition of the compact self adjoint operator, we have

$$(3.13) \quad f_{\epsilon(\delta)}(x) = \sum_{j=1}^{\infty} \frac{|B(\lambda_j, \alpha)|^{2\xi-1}}{[\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi}} \langle g, \varphi_j \rangle \varphi_j(x), \quad \frac{1}{2} \leq \xi \leq 1.$$

Furthermore, if the measurement data of g is g^δ with errors δ then

$$(3.14) \quad f_{\epsilon(\delta)}^\delta(x) = \sum_{j=1}^{\infty} \frac{|B(\lambda_j, \alpha)|^{2\xi-1}}{[\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi}} \langle g^\delta(x), \varphi_j(x) \rangle \varphi_j(x), \quad \frac{1}{2} \leq \xi \leq 1,$$

here $\epsilon(\delta)$ is regularization parameter.

The following theorem obtain the estimation for $\|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)}$ and the order of convergences with suitable regularization parameter. First, we need the lemma.

Lemma 3.1. For $z \geq \lambda_1$ and $\frac{1}{2} \leq \xi \leq 1$, then

$$(3.15) \quad G_1(z) = \frac{z}{A^{2\xi} + \epsilon z^{2\xi}} \leq \bar{B}(\xi, A) \epsilon^{-\frac{1}{2\xi}},$$

here $\bar{B}(\xi, A)$ independent of ϵ, z .

Proof. For $\frac{1}{2} < \xi < 1$, from (3.15), we take the solution of $G_1'(z) = 0$, we get

$$z_0 = A(2\xi - 1)^{-\frac{1}{2\xi}} \epsilon^{-\frac{1}{2\xi}}.$$

And by z_0 , the equation (3.15), has

$$G_1(z) \leq G_1(z_0) \leq \epsilon^{-\frac{1}{2\xi}} \left(\frac{A^{1-2\xi} (2\xi - 1)^{-\frac{1}{2\xi}}}{2\xi} \right).$$

□

Lemma 3.2. For $z \geq \lambda_1$, $\frac{1}{2} \leq \xi \leq 1$, then

$$G_2(z) = \frac{\epsilon^2 z^{2\xi-m}}{A^{2\xi} + \epsilon^2 z^{2\xi}} \leq \begin{cases} (2\xi)^{-1} \left((2\xi - m)^{\frac{2\xi-m}{2\xi}} A^{-m} m^{\frac{m}{2\xi}} \right) \epsilon^{\frac{m}{\xi}}, & 0 < m < 2\xi \\ (A^{2\xi} \lambda_1^{m-2\xi})^{-1} \epsilon^2, & m \geq 2\xi \end{cases}.$$

Proof. This result as the [7], we omit here. □

Theorem 3.3. Assume that $f \in H^m(\Omega)$ and $g \in L^2(\Omega)$ then

$$\|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)} \leq C \delta [\epsilon(\delta)]^{-\frac{1}{\xi}} + \begin{cases} (2\xi)^{-1} \left((2\xi - m)^{\frac{2\xi-m}{2\xi}} A^{-m} m^{\frac{m}{2\xi}} \right) \|f\|_{H^m(\Omega)} [\epsilon(\delta)]^{\frac{m}{\xi}}, & 0 < m < 2\xi \\ (A^{2\xi} \lambda_1^{m-2\xi})^{-1} \|f\|_{H^m(\Omega)} [\epsilon(\delta)]^2, & m \geq 2\xi \end{cases}$$

with $A = \left| \frac{1}{\lambda_j} \left(1 - \exp(-\lambda_1 T^\alpha \alpha^{-1}) \right) \right|$, C independent of $\epsilon(\delta)$.

Remark 3.1. This theorem suggests the choice of the following regularization parameter

- If $0 < m < 2\xi$, we can choose $\epsilon(\delta) = \left(\frac{\delta}{\|f\|_{H^m(\Omega)}} \right)^{\frac{\xi}{m+2}}$ then

$$\|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)} \text{ is convergences with order } \delta^{\frac{m}{m+2}}.$$

- If $m \geq 2\xi$, we can choose $\epsilon(\delta) = \left(\frac{\delta}{\|f\|_{H^m(\Omega)}} \right)^{\frac{\xi}{\xi+1}}$ then

$$\|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)} \text{ is convergences with order } \delta^{\frac{\xi}{\xi+2}}.$$

Proof. Applying triangle inequality, we have the result

$$\|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)} \leq \underbrace{\|f_{\epsilon(\delta)} - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)}}_{\mathcal{A}_1} + \underbrace{\|f - f_{\epsilon(\delta)}\|_{L^2(\Omega)}}_{\mathcal{A}_2}$$

with

$$(3.16) \quad \begin{aligned} \mathcal{A}_1 &= \sum_{j=1}^{\infty} \frac{|B(\lambda_j, \alpha)|^{2\xi-1}}{[\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi}} \langle g^\delta(x) - g(x), \varphi_j(x) \rangle \varphi_j(x), \\ \mathcal{A}_2 &= \sum_{j=1}^{\infty} \left(\frac{|B(\lambda_j, \alpha)|^{2\xi-1}}{[\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi}} - \frac{1}{|B(\lambda_j, \alpha)|} \right) \langle g, \varphi_j \rangle \varphi_j(x). \end{aligned}$$

Step 1: First, the estimation of $\|\mathcal{A}_1\|_{L^2(\Omega)}$ will be shown. From

$$|B(\lambda_j, \alpha)| = \left| \frac{1}{\lambda_j} \left(1 - \exp(-\lambda_j T^\alpha \alpha^{-1}) \right) \right| \leq \frac{1}{\lambda_j}$$

and the other hand

$$|B(\lambda_j, \alpha)| = \left| \frac{1}{\lambda_j} \left(1 - \exp(-\lambda_j T^\alpha \alpha^{-1}) \right) \right| \geq \left| \frac{1}{\lambda_j} \left(1 - \exp(-\lambda_1 T^\alpha \alpha^{-1}) \right) \right|,$$

it follows

$$\begin{aligned} \|\mathcal{Q}_1\|_{L^2(\Omega)} &\leq \sum_{j=1}^{\infty} \left| \frac{\left| \frac{1}{\lambda_j} \right|^{2\xi-1}}{[\epsilon(\delta)]^2 + \left| \frac{1}{\lambda_j} \left(1 - \exp(-\lambda_1 T^\alpha \alpha^{-1}) \right) \right|^{2\xi}} \right|^2 \langle g^\delta - g, \varphi_j \rangle^2 \\ &\leq \sum_{j=1}^{\infty} \left| \frac{\lambda_j}{[\epsilon(\delta)]^2 \lambda_j^{2\xi} + |1 - \exp(-\lambda_1 T^\alpha \alpha^{-1})|^{2\xi}} \right|^2 \langle g^\delta - g, \varphi_j \rangle^2. \end{aligned}$$

Employing Lemma 3.1, we have

$$(3.17) \quad \|\mathcal{Q}_1\|_{L^2(\Omega)} \leq C\delta(\epsilon(\delta))^{-\frac{1}{2\xi}}.$$

Step 2: Next, we have estimates $\|\mathcal{A}_2\|_{L^2(\Omega)}$,

$$\begin{aligned}
 \|\mathcal{A}_2\|_{L^2(\Omega)}^2 &\leq \sum_{j=1}^{\infty} \left(\frac{|B(\lambda_j, \alpha)|^{2\xi-1}}{[\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi}} - \frac{1}{|B(\lambda_j, \alpha)|} \right)^2 |\langle g, \varphi_j \rangle|^2 \\
 &\leq \sum_{j=1}^{\infty} \left(\frac{[\epsilon(\delta)]^2}{|B(\lambda_j, \alpha)|([\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi})} \right)^2 |\langle g, \varphi_j \rangle|^2 \\
 &\leq \sum_{j=1}^{\infty} \frac{[\epsilon(\delta)]^4}{([\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi})^2} \frac{|\langle g, \varphi_j \rangle|^2}{|B(\lambda_j, \alpha)|^2} \\
 (3.18) \quad &\leq \sum_{j=1}^{\infty} \frac{[\epsilon(\delta)]^4 \lambda_j^{-2m}}{([\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi})^2} \frac{\lambda_j^{2m} |\langle g, \varphi_j \rangle|^2}{|B(\lambda_j, \alpha)|^2}.
 \end{aligned}$$

Since the above estimation, we conclude

$$\begin{aligned}
 \|\mathcal{A}_2\|_{L^2(\Omega)}^2 &\leq \sup_{j \in \mathbb{N}} |G_2(\lambda_j)|^2 \sum_{j=1}^{\infty} \frac{\lambda_j^{2m} |\langle g, \varphi_j \rangle|^2}{|B(\lambda_j, \alpha)|^2} \\
 &= \sup_{j \in \mathbb{N}} |G_2(\lambda_j)|^2 \|f\|_{H^m(\Omega)}
 \end{aligned}$$

with

$$\begin{aligned}
 G_2(\lambda_j) &= \frac{[\epsilon(\delta)]^2 \lambda_j^{-m}}{[\epsilon(\delta)]^2 + |B(\lambda_j, \alpha)|^{2\xi}} \\
 &\leq \frac{[\epsilon(\delta)]^2 \lambda_j^{2\xi-m}}{[\epsilon(\delta)]^2 \lambda_j^{2\xi} + \left| \frac{1}{\lambda_j} (1 - \exp(-\lambda_1 T^\alpha \alpha^{-1})) \right|^{2\xi}}.
 \end{aligned}$$

Let $A = \left| \frac{1}{\lambda_j} (1 - \exp(-\lambda_1 T^\alpha \alpha^{-1})) \right|$, applying the Lemma 3.2,

$$(3.19) \quad G_2(\lambda_j) \leq \begin{cases} (2\xi)^{-1} ((2\xi - m)^{\frac{2\xi-m}{2\xi}} A^{-m} m^{\frac{m}{2\xi}}) [\epsilon(\delta)]^{\frac{m}{\xi}}, & 0 < m < 2\xi \\ (A^{2\xi} \lambda_1^{m-2\xi})^{-1} [\epsilon(\delta)]^2, & m \geq 2\xi \end{cases}.$$

In view of (3.18) and (3.19), we show that

$$\|\mathcal{A}_2\|_{L^2(\Omega)} \leq \begin{cases} (2\xi)^{-1} ((2\xi - m)^{\frac{2\xi-m}{2\xi}} A^{-m} m^{\frac{m}{2\xi}}) \|f\|_{H^m(\Omega)} [\epsilon(\delta)]^{\frac{m}{\xi}}, & 0 < m < 2\xi \\ (A^{2\xi} \lambda_1^{m-2\xi})^{-1} \|f\|_{H^m(\Omega)} [\epsilon(\delta)]^2, & m \geq 2\xi \end{cases}.$$

From Step 1 and Step 2, we get

$$\begin{aligned}
 \|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)} &\leq C\delta[\epsilon(\delta)]^{-\frac{1}{\xi}} \\
 &+ \begin{cases} (2\xi)^{-1} ((2\xi - m)^{\frac{2\xi-m}{2\xi}} A^{-m} m^{\frac{m}{2\xi}}) \|f\|_{H^m(\Omega)} [\epsilon(\delta)]^{\frac{m}{\xi}}, & 0 < m < 2\xi \\ (A^{2\xi} \lambda_1^{m-2\xi})^{-1} \|f\|_{H^m(\Omega)} [\epsilon(\delta)]^2, & m \geq 2\xi \end{cases}.
 \end{aligned}$$

And the regularization parameter $\epsilon(\delta)$ is chosen:

$$(3.20) \quad \epsilon(\delta) = \begin{cases} \left(\frac{\delta}{\|f\|_{H^m(\Omega)}} \right)^{\frac{\xi}{m+2}}, & 0 < m < 2\xi \\ \left(\frac{\delta}{\|f\|_{H^m(\Omega)}} \right)^{\frac{\xi}{\xi+1}}, & m \geq 2\xi \end{cases}.$$

Thus, with ϵ is confirmed by (3.20), we have show that

Claim 1: If $0 < m \leq 2\xi$, then

$$\|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)} \leq \delta^{\frac{m}{m+2}} \left[\delta^{\frac{1}{m+2}} \|f\|_{H^m(\Omega)}^{\frac{1}{m+2}} C + \|f\|_{H^m(\Omega)}^{\frac{m+1}{m+2}} (2\xi)^{-1} ((2\xi - m)^{\frac{2\xi-m}{2\xi}} A^{-m} m^{\frac{m}{2\xi}}) \right].$$

Claim 2: If $m > 2\xi$, then

$$\|f - f_{\epsilon(\delta)}^\delta\|_{L^2(\Omega)} \leq \delta^{\frac{\xi}{\xi+1}} \left[\|f\|_{H^m(\Omega)}^{\frac{1}{\xi+1}} C + (A^{2\xi})^{-1} \delta^{\frac{\xi}{\xi+1}} \|f\|_{H^m(\Omega)}^{\frac{1-\xi}{\xi+1}} \right].$$

□

REFERENCES

- [1] A. Abdeljawad, R. P. Agarwal, E. Karapinar and P. S. Kumari: *Solutions of the Nonlinear Integral Equation and Fractional Differential Equation Using the Technique of a Fixed Point with a Numerical Experiment in Extended b-Metric Space*, *Symmetry*, **11** (2019), 686.
- [2] B. Alqahtani, H. Aydi, E. Karapinar and V. Rakocevic: *A Solution for Volterra Fractional Integral Equations by Hybrid Contractions*, *Mathematics*, **7** (2019), 694.
- [3] V. T. T. Ha, N. N. Hung and N. D. Phuong: *Identifying inverse source for Diffusion equation with Conformable time derivative by Fractional Tikhonov method*, *Adv. Theory Nonlinear Anal. Appl.*, **6** (4) (2022), 433–450.
- [4] Y. Han, X. Xiong and X. Xue: *A fractional Landweber method for solving backward time-fractional diffusion problem*, *Comput. Math. Appl.*, **78** (2019), 81–91.
- [5] A. Kirsch: *An Introduction to the Mathematical Theory of Inverse Problems*, Volume 120 of Applied Mathematical Sciences, second edition, Springer, New-York (2011).
- [6] A. R. Khalil, A. Yousef and M. Sababheh: *A new definition of fractional derivative*, *J. Comput. Appl. Math.*, **264** (2014), 65–70.
- [7] L. D. Long, N. H. Luc, Y. Zhou and C. Nguyen: *Identification of Source term for the Time-Fractional Diffusion-Wave Equation by Fractional Tikhonov Method*, *Mathematics*, **7** (10) (2019).
- [8] N. A. Triet, V. V. Au, L. D. Long, D. Baleanu and N. H. Tuan: *Regularization of a terminal value problem for time fractional diffusion equation*, *Math. Methods Appl. Sci.*, **43** (6) (2020), 3850–3878.
- [9] N. H. Tuan, L. D. Long: *Fourier truncation method for an inverse source problem for space-time fractional diffusion equation*, *Electron. J. Differ. Equ.*, **122** (2017), 1–16.
- [10] N. H. Tuan, L. D. Long and N. V. Thinh: *Regularized solution of an inverse source problem for a time fractional diffusion equation*, *Appl. Math. Model.*, **40** (2016), 8244–8264.
- [11] F. Yang, C. L. Fu: *The quasi-reversibility regularization method for identifying the unknown source for time fractional diffusion equation*, *Appl. Math. Model.*, **39** (2015), 1500–1512.
- [12] F. Yang, Y. P. Ren, X. X. Li: *Landweber iterative method for identifying a spacedependent source for the time-fractional diffusion equation*, *Bound. Value Probl.*, **2017** (1) (2017), 163.
- [13] F. Yang, X. Liu, X. X. Li: *Landweber iterative regularization method for identifying the unknown source of the time-fractional diffusion equation*, *Adv. Differ. Equ.*, **2017** (1) (2017), 388.

NGHIEM THI VAN ANH
INDUSTRIAL UNIVERSITY OF HO CHI MINH CITY
FACULTY OF FUNDAMENTAL SCIENCE
HO CHI MINH CITY, VIETNAM
Email address: nghiemthivananh@iuh.edu.vn

VU ANH TUAN
DONG NAI TECHNOLOGY UNIVERSITY
FACULTY OF FUNDAMENTAL SCIENCES
BIEN HOA CITY, VIETNAM
Email address: vuanhtuan@dntu.edu.vn

LE DINH LONG
FPT UNIVERSITY HCM
FACULTY OF MATH
SAIGON HI-TECH PARK, THU DUC CITY, HO CHI MINH CITY, VIETNAM
Email address: longld13@fe.edu.vn

DOAN VUONG NGUYEN
INDUSTRIAL UNIVERSITY OF HO CHI MINH CITY
FACULTY OF FUNDAMENTAL SCIENCE
HO CHI MINH CITY, VIETNAM
Email address: doanvuongnguyen@iuh.edu.vn